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RDESRBFHETRENIEEENHS. UTOBWCERKX. (5 100 <)

v =125sin (257zt +§7rj [V]

BAME : Va[V], EME : V[V], EEFIEE : Ve [V], BEKEL : o [rad/s], B : f[Hz],
fIABA : 6[°] MENENLKBHLERE. (B 55, 5130 :)

EAME @V, =125[V] AREREL © 0= 257 =78.53[rad/s]
EIME : V = V—2 88.39[V] RS : f =2 =12.5[Hz]
27

HEXTEIIME v ave\ =79.58[V]  fitBA 0=§7r[rad]:120[°]

BE vZII-YFRRTKRE. (20)

V =V £0, =88.39/120°[V]

T  FERHERTEE. (20 )
V =V cosé, + jVsing, = 88.39cos§7r+ j88.39sin %n
— _44.20+ j76.55[V]

BE v OIJI-URZHET. (30 =)

S j76.55[V]

120[°]




